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UNIT 1

Get Ready

= Key Words
rain ] shirt M= socks gt
raincoat HI2 boots st splash &#7{2|ct

= Quick Check

socks shirt rain boots

= Key Sentence
| put on my socks. (L= Y2 A0{R.)

=1 2t 2t = AT HZSHM|R.
| put on my shirt. (Lk= NXE 20i2) C
| put on my raincoat. (Lt= HI2E 2012) b
| put on my boots. (L= &35 Aoj2) d
| put on my pants. (L= BIXIS 20i2) a

m Quick Check

| put on my boots. (Lt= &EE A0{2)

Main Reading
L= HIE S0kl
H|7} 9}2.
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= Quick Quiz
GiXfolols & M HIRE 21 QULER?

L 2IM(a yellow raincoat)

Review Activity

= Comprehension CkSE 2T L2 2ol M35t

1. 0|82 of gt ojopr|ofe.
ot 0 &5
2, Li=8l&0A
O gole o Hmsie
3. =0| 22, False
4. LI=HIE Z0l6l True

= Wrap-up gIZio] S01Z 252 THojofl ST2t0| SMIL.

| put on my (L ~2 o)

shirt (M=)

boots (&3}

socks (%)
at

(HIR)

raincoa




Get Ready

= Key Words
sSnow = melt =ttt flower 2
stream AlA4E bird M frog 72

= Quick Check

flower frog bird stream

= Key Sentence
The snow is melting. (20| =1 UNL.)

=1 2} 2t = AT HZSHMQ.

The flowers are blooming. (££0| Zjz /0i2) d
The streams are running. (A|420| 321 o) b
The birds are singing. (A1S0] 25tz /L) a
The frogs are jumping. (#712IE0] H1 %0) ¢

= Quick Check

The birds are singing. (MZ0] =25tz A1)

Main Reading

0| o2

0| 2L,

0] =11 Q01Q.

20| 2oL,

ZE0| oz YoL.
20| L.

AH20| E2 7 0L,
20| 202,

MZ0| 2ot L.
20| 2oL,

7i712lE0] HI U0 L.

=0| 2L,
= EEir AN
= HI ALY

= Quick Quiz

M7t 0f2] HO|LtR? £ Ot2|(two birds)

Review Activity

= Comprehension CkS2 21 222 Zof HISHAIR.

1. 0|2 of cHgt ojof o2,
Ve 0742
2. =0| L.
up:in] ]
3. GiS0| &oi. False
4. 22|= sk UL, True

L.

ol

= Sentence 282 2ok YU HHOE MEd

Fr

1. The birds are singing. (ME0| 25tz 21012.)
2. The flowers are blooming. (50| T2 ANL.)
3. Spring is here. (80| g0

= Word HES 245t

-
(o]
w

)
S
2

(7]
—

®
o
3

= Wrap-up 27 = 2712 QZ6t0 252 THoiE ML,

1. ¢ The snow is melting. (£0] 52 A0L))

2. a The frogs are jumping. (Z721£0] H1 0R.)
8. b The birds are singing. (MZ0| =2i5t1 ANHL.)




UNIT 3

Get Ready . ® Quick Quiz

HHE0= FRO| ALUR?

. :
Key Words : oot Hoja|xtzt FE, 2&2| 271 (socks, mittens,
pair st % wear Ct, Alct together &7 : a coat, and two mufflers)

shoes 42t mittens Ho2|&Z  chopsticks X7t2

» Quick Check Review Activity

= Comprehension CkSE 2T U2 2ol M35t

chopsticks mittens shoes wear
1. 0|2 of gt ojopr|ofe.
= Key Sentence : mESE vat s
) =/ 5 MO|0IQ
Socks are a pair. (YL $t Wolofl2.) 2 =/2 2t 4o(
0 M= o ofalzzt
=—| ket atrst S etk ﬁ?:l=A R _ _
L= I' |'E -rax7'" EOI' '“ 3. x_ngg °._|'}é|'0|0||9_ False
Shoes are a pair. (A2 5t ¥olole) b
4. 2= LS S Alof True

Chopsticks are a pair. (57122 st ¥oloI2.) ¢
Mittens are a pair. (Ho{2|&z2 5t Aojol) d

. _ u ENZ MGk YU THOE MEHSIMIS.
Gloves are a pair. (RZ2 st 40jo2) a Sentence = oh= 2% e S,

: O0CKS )
» Quick Check 2. Chopsticks are a pair. (5722 st 40]0f2.)

Shoes are a pair. (A2 5 40[0fR.)

= Word HES 2AM5IHL.

SHARI WSS &2 4 ALUR?
Yol & Wololl2.
f2l= INES 8 Ao
1.

Aldho| B ool .
fel= RS2 e oL,
Hoi2|ZZo| st oo,
el INSS @ HR.

- H|Z7 =0zt etate Ck =
o 31t o . = Wrap-up 2IZH0f S0{Z 22 THojoll S32t0] i,
RIRIE St Moo, : ____areapair. (~2 8 4ojol2)
Rl ARES S AEslR. : Socks (%) Mittens (Ho{2|&z)
QS OF|L} Bl CHAS. Boots (&3} Shoes (A1)

Chopsticks (5712




Get Ready

= Key Words
hive #Z! home %! nest X
den OFY S20| Als) 2 fox BP web 7oOl&

= Quick Check

hive nest web home

= Key Sentence

A hive is home to a bee. (222 Hoi|#| Zolof.)

=1 2t 2t = AT HZSHM|R.

A nest is home to a bird. (SXl= Aoll7] Zolol2) a

A den is home to a fox. (22 04 Zojol) ¢

A web is home to a spider. (701E2 ojol|7| Zolol.) b
A stream is home to a frog. (A2 7H7alofA Zolol2.) d

= Quick Check

A web is home to a spider. (Ho|Z2 Holol#| Zolol2.)

Main Reading
259 ¥

HE2 EoflA EololL.
€2 HHM 2ot

%th MoflA Eolol|2.
M= SX[0IM 20t

=2 K007 Zojoil2.
ol2= =20IM 2ot

7olE2 7ojofiA| EolofL.
70l= HolE0|A AotR.

® Quick Quiz

M = Of2(7F SXloff ALR7?

U 02| (four birds)

Review Activity

= Comprehension CESE 91 Y32 Zofl M5,
1. 0jHS _ of st ooz o2,
v 250 7 O €S0 NS
2. €S oM Aote.
0 7401E o &zl
3. 0i2= 2oM Aot True

4. 7{0IE2 MofA Eololl. False

UBS ClofS MEHBHHR,

ﬂF

= Sentence 22 245

1. Aden is home to a fox. (22 {20 ZololL.)
2. Ahive is home to a bee. (%2 Hoil| Tolol2.)

3. A bird lives in a nest. (M= SX[0|lA] A0}R.)

= Word HES 2SIML.

o m e

n

= Wrap-up 27 U= A7[2] HZstn U2 TIHE MM|R,
1. ¢ Abird lives in a nest. (A= SX[ofAf &oiR)

2. b A spider lives in a web. (7{0l= 7{0IZ0i|A] £0l2.)

3. a Afoxlives in a den. (012= 20i|M Aot2.)




UNIT5

Get Ready

= Key Words
country AIE tree LIZ hill &=
city =A| building &g car Xtsxt
= Quick Check
city country building tree
= Key Sentence
There are hills. (H=50] 20{2)
=1 2} Zet = AT HZSHMQ.

There are many trees. (tF0| 20| l0i2) b
There are buildings. (2ZS0] A0i2) a

There are many cars. (ASXIE0| 2ol AHR) d
There are birds. (ME0] ANL) ¢

= Quick Check

There are buildings. (Z250] 201Q)
Main Reading
At AE

S U2 A2 Aot

:,__ A|'T'—9 =0 |.°|.|o

AES0| A0IL.
LIFS0] ol AL

wgiS0] Qloie.
XISIS0| 20| 0l

= 2| 0I5 4 20K

AfzH(an apple)

Review Activity

= Comprehension CI32 ¢l

1.

k2 Zofl HFSHMIL.

[ BASSS 0fl CHSH OjoF7 0|2,

0 stm o SAR} A

OEEs o Aot

0 A2 v 2A

EAofl= HEE0| Zo| AR False
S5 22 MM IIUSZ HE 2 UL True

= Sentence 282 2ok YU2 HHOE MEISIMIR.

. There are buildings. (!

. There are many cars. (XtSXE0| 20| UL

g0 AiR)

. He can move fast. (2= 2| 0|5 £ U0i2)

= Word HES 2HsIML.

B

c | y
h i ||
= Wrap-up TS g0 23 Q= Zat AZ5M|Q.

1.

. city (=A) - many cars
move fast (2| 0|53t

country (AIZ) - hills (H=5), many trees (B2 LITFS),
eat fresh fruits (A5 HUSS 9O}
(2 X1E), buildings (£28),




Get Ready

= Key Words

room & book =i chair 2Jxt

pencil ¢! floor Hi=t messy X|X&st, ol

® Quick Check

room book pencil chair

= Key Sentence
I like pants on the bed. (Lt= Ziti $lofl = HiX|7H Z0t2)

=1 2} Zet = AT HZSHMQ.

| like books on the chair. (L= 2t 2{0i| Q= S0| Z012) a
| like shirts on the desk. (L= 24 2lof Ql= M=E0| Z0tR2) b
o) d
| like socks on the door. (L= 2 $oil Q= ¥LUS0| Z012) ¢

| like pencils on the floor. (L= HiE] Rl HEES0]

Ot

= Quick Check

| like pencils on the desk.
(L= e 2ol U= AZS0| Z012)

Main Reading
KIxst L ot
Li= LY o] 01,
Li= U ol A= 2& X0| E012.
L= i {10l U= HEXIZHE0ER,
Lt= <Xt /ol U= HS0| Z0te.

Lt= e floil U= M=S0] 012,

Lt= HIE0 f= HES0| 2012

L= XIxfEet L 2ol Z0tR.

SR 22| ¢0k= W &S Z0I5HK| 20t

E
Ank= LY 20| 7352 e,

= Quick Quiz

O S22 20| ol 22 ALR? AtxHa lion)

Review Activity

= Comprehension CkS2 21 222 Zof HISHAIR.

1. 022 ol it ook o2,
0 92| 2t of Lio| xRt 8

= Sentence 2 Qo= LU= THO{E MEHSH
1. | like shirts on the desk. (L= AL Qlof| U= MRE0| Z01R)
2. |like books on the chair. (L= 2Ix} £l0f U= HS0| Z01R))

3. | like my messy room. (Lt= X[MESH LY &lo] Z012)

= Word HES 2HsIML.

b
‘BB
0 e
k S
s
Y

= Wrap-up J22 20 252 HoiE MM |2,

| like books on the chair. (Lt= 2JXt 2{0fl U= 2S0] Z01R2)
I like pants on the bed. (L= Zth S0 U= BIX|7HZ0IR.)

| like pencils on the floor. (Lt= HiEo] e HES0| £0tR)
| like shirts on the desk. (Li= 24 2lof Ql= MZS0| £012))

oM




UNIT 7

Get Ready

= Key Words
cave &2 bear & jungle 82
lion Atxt river Z alligator 2{of
® Quick Check
cave bear lion river

= Key Sentence
[ fly in the air. (LH= SHs0lM LotR)

=1 2t Zet = AT AR
| walk in a cave. (Lk= 3201M Z0i12) ¢©
| run in the jungle. (Li= H20IM FH0IR) a
| swim in a river. (Lt= ZolM £5612) b

| jump in the rain. (L= 8i&0lM Hzsie) d

= Quick Check

I swim in ariver. (L= Z0IM 28512
Main Reading
M2 B

L= 3501 Zote.
LIS HDE S48)2 oLt “SoFMel
L= S201M Zoj2.

Li= BinE 22 ohie “zomMel
L= 2014 Hol2.

LIS HITE AIS DiLtR. “oMel
L= ZolA £=Fs512.

LIS BT Ol0jS DiIR. ‘oMLl

MRl EAFMIR!
2, %L TX| EM2 B0,

= Quick Quiz

EAI01012] M=0|A & 20| 20|LIL7? &(a star)

Review Activity

= Comprehension CkS2 21 222 Zof HISHAIR.

1. 0|2 of chgtojo o2,
FM2 B O HjnE 3
2, L=_  =pElEUHUR
0 =t =
3. L= H20M HoL. True
4. L= Hi0E /4728 e, False

= Sentence 22 2AYol= L2 TS MEHSIMIR.
1. I walk in a cave. (Li= S20|M Z0iR)

2. | fly in the air. (L= oks0IM HolR)

3. I meet a hungry lion. (L= BRTE AXIS LR

= Word HES 2HsIML.

. I meet a hungry lion. (Lk= BITE AXIE DHLEQ)

3
4. | meet a hungry alligator. (L= HITE S BHLIR,
1
2

R

. I meet a hungry eagle. (Lt= Hi1E E2|E THLIR)

. I meet a hungry bear. (Lt= H{TE TS 0HLtQ)




Get Ready

= Key Words
mix Act red W7 blue D2t
yellow =gt green EEAM black Z2M
® Quick Check
blue black green mix

= Key Sentence
| mix red and blue. (Lt= 37 HHa} TiZIMS AMojR))

=1 2t Zet = AT AR

| mix yellow and blue. (L= l2H0} Tizhis Aoi) b
I mix red and yellow. (L= 7T} L2HS M0R) a

I mix black and white. (Lt= Z2Mut SlMS Aoie) d

| mix all the colors. (L= ZE MS A0{2) ¢

= Quick Check

I mix red and yellow. (L= @70t LIS Moje)

Main Reading
M okEAb
Li= A OfsAlelle.

— |—f =] |
Ll't A—'!EE Dn_I'E 9!-

Lh= 7} Ti2his 012

~

S HEZ BIS0lR.

1Z2 F& MZRIIRY #2244 (black)

Review Activity

= Comprehension CkS2 21 222 Zof HISHAIR.

1. 01242 of thEtojopz ol
o A 0 2%
2. L= Mg
o oisoie 0 Qloje
3. Li= & oA, False
4. L= 122 0L, True

1. | mix yellow and blue. (Lt= =20} Ti2HAS MoiQ)
2. | mix black and white. (Li= Z2AM1} SIS M0iQ))

8. That makes orange. (A2 FMS IH=0{Q))

= Word HES 245t

b
b @B e ¢ k
u

gr.en o

= Wrap-up J88 E1 %2 TS MAHI2,
1. I mix yellow and blue. That makes green.
(LHs L2tdat DS MojQ, 22 REMS THE0R)

2. | mix black and white. That makes gray.

(LH= ZioMa) SIS Aoie. IS BMS pis0iR)

3. | mix red and blue. That makes purple.

(Lh= 7kt mgkS Moje, D42 Batis oh501Q)

4. | mix red and yellow. That makes orange.

(Li= zhiit L 2SS 012, OX2 FEMS T1S01Q)




UNIT9

Get Ready

= Key Words
bread wheat ¥ tomato E0OIE
grow Xf2fct farm =% milk 25

= Quick Check
bread wheat milk farm

= Key Sentence

ujn

Bread comes from wheat. (#2 ZLZ 0HE0R.)

=1 2} Zet = AT HZSHMQ.

Ketchup comes from tomatoes. (AIE2 EOEZ HEHR) €
Eggs come from hens. (2Z2 LE0iA LIt2) b

Milk comes from cows. (RRE FHA0M LI2I2) d

Cheese comes from cows. (X|== FHANM LI2IR) a

= Quick Check

Eggs come from hens. (222 S0 LII2)

Main Reading

of

4HAZH0]0| 2!
A2 olTlolM 27127

o

P

=~

M2

bl
>

DEE

0

I

oA 24Q. (W2 2UZ OIHE0R)
EOENIM 212, (AIXS ENIERZ BHE0R)

0.
r

et

ot
ro

t E0tE= SE0IM X2t

na
[

n
N

1252 QIS0 Lo,
= A0 Lk,

o
on
r

oo

S Has ST Aote.

- O
Kol = 20| L_UR?

_—

%

= Quick Quiz

O] Ho|X[oM OH SES2 2 5 JULIR?
ottt M A (hens and cows)

Review Activity

= Comprehension CkSE 2T %2 2ol HI5HMIR.

1. 012 o thst olop ol
05237 o gAlnt 3t
2. UNEOES oM AR,
=5 0 A
3. SF= USHOIA LIIR. False
4. skt HAS SR Ao}, True

= Sentence EYS AMok= YHU2 TS MESIMIR.
1. Ketchup comes from tomatoes. (A&2 E0IEZ IHS0{Q)
2. Bread comes from wheat. (#2 2=z 3E0{Q))

3. Wheat and tomatoes grow on the farm.
(Pt ENtE= SHOIM X12t2.)

= Word HES 2SIML.

f

w b r e - d

h it

e g m

a I
. o m a ft -

w
= Wrap-up 27 = 27)2| QZstn Y52 ToiE MN|Q.

1. b Ketchup comes from tomatoes.
(M2 EOlEZ BHE0R)

2. a Milk comes from cows. (25= HANA LIAR)

3. ¢ Bread comes from wheat. (2 LUz 0t=0{Q)




UNIT 10

Get Ready

= Key Words
boat tf sail follsict drive 245ttt
road £2, Z train 7|zt railroad 7|52

= Quick Check

train road drive boat

= Key Sentence
We take a boat. (R2l= HiS Et)

=1 2} Zet = AT HZSHMQ.

We take a bus. (R2l= HAZE EL) C©
We take a plane. (2= HIZ7|Z EL) a
We take a train. (22l 7|XZ EL) d

We take a car. (R2l= AISAE EL) b

= Quick Check

We take a bus. (®2|= HAES E})

Main Reading
O{& S MHLEX}
22l= S Ef = Xofl 2 X0l
LS 7122 alstAl
Pal= HAS EL R85 25
T2 {5 26K,
Pel= HIATIE EL &) 8
st=S Ext
f2= 7RIS EL 2RIEER]
75 215 alRt,

= Quick Quiz
OiZH XIS £ ofXt 010l RS 5t QLIRS

2% (driving)

Review Activity

= Comprehension CkSE 2T %2 2ol HI5tMIL.

~

1. O|R=2_ of CHSt OjoF7 |0,
o of3 0 715
2. 2R Skt
O sls vz
3. Ral= 37|12 Et, True
4. T2 2= <X} False

= Sentence 22 Aol= YU2 HOE MEISIHE.
1. We take a boat. (R2l= HiZ EL)
2. We take a bus. (22l= HAES EL)

3. Let’s run on the railroad. (7|32 9= Za|xt.)

= Word HES 2AM6HHL.

t@ain s
o b ola
@rive o
= Wrap-up J82 E1 AW2 TS MA|Q

1. We take a plane. Let’s fly in the air.

(f2l= HIYIS B sks2 €A

2. We take a bus. Let’s drive on the road.
(REl= HAS Bt =2 IE 2H5iXt)

3. We take a boat. Let’s sail across the river.
(R2I= HIE EL 22 71228 E6listxt)

4. We take a train. Let’s run on the railroad.
(R2l= 7IXIE EL 71534 2 L2Xt)




UNIT 11

Get Ready : = Quick Quiz

O{xotol2] 32k M=0|M ERE = 4 ULR?

= Key Words
y Ij2t BE (blue stars)
fight Wct talk 0[of7[3ct
share 20| Mr}, LItCt smile 0|4 Xlct

toys S friends 2175 Review Activity

= Comprehension CkSE 2T %2 2ol HI5HMIR.
= Quick Check

1. 0IZ42 __ of T3t ook [0l L.
talk smile toys friends 0 &zis ==
2 JEREE

= Key Sentence o el 0 wote

We don’t talk. (S21= 0lop5tx| f0i2) L 3 8= FT0R, True
E1 W2} Lot = L HZSIMR. 4. 2= M2X| ot False
We share toys. (f2l= g 20| 7tx|2 £0i2)
We eat lunch together. (R2/= 20| ZAlg =oj2) d = Sentence 22 AYol= YR2 TOIS MEHSIML.
We don’t share books. (f2l= S 20| x| ¢oi2) ¢ 1. We don’t eat together. (R2|= 20| x| 94012

[

We don’t eat together. (22l= 20| #x| gote) b : 2. We share toys. (22l= F2ig 20| 7iX|1 =012.)

3. She smiles at me. (2 o7} Liol|A| O]AS X|0{R.)

= Quick Check

We share toys. (P2l= Hhzig 20| 7ix/1 5012) - = Word TIES 2E5tHR.

. h a r e
Main Reading

: m
Sal= iT0le § A K
: l

7HE REl= MY,

J2{H 2aj= 0[ob7[5Hk| Lote.
= M2 20| EX| lote.
P2l= 20| Hx| 02, _
e ol sl ok = Wrap-up J2S BT U522 HHS VA2

SHXIEE 2, 11 of7F LiofA| olA XK.

L= DJAZ HUQ 1. We talk together. (22l= Z0] 0[0F7[512.) <

We don’t talk together. (R21= 20| 0[0F7[51X| ¢0lR)
2. We share toys. (R2l= S 20| 71X|1 =012)
We don’t share toys. (R2l= S 20| 71X|2 =X| 20iR)

J2{H 22|= 20| 0[0F7 3L,
fele HES 20| 7K1 S0t

PE= 20| His HoR.

: 3. We eat lunch together. (22|= Z0| MAS H0R) «
2|7t £72IX| Lote? : We don’t eat lunch together.
Sote. fal= 2+l : (Rl Zo| MAS =Xl 2ote)




UNIT 12

Get Ready

= Key Words
touch 2HxIct smooth oHZ5t cool Alst
rough 7zl soft 2E2i2 spiky #Z5t
= Quick Check
smooth soft rough cool

= Key Sentence
Something is smooth to touch. (0 72 BHx|H o§112{92 )

=1 2} Zet = AT HZSHMQ.

Something is cool to touch. (HE 2 SX[H A|2EHR.) a

Something is rough to touch. (E 22 XM HE0R) ¢

Something is soft to touch. (0 72 BIX|H B=2i9Q) b
(

Something is spiky to touch.

= Quick Check

Something is soft to touch. (0 22 2HX|H E=2{)

Main Reading

=SR]
M0 U2 5250/ 012,
OffH 242 BHXISt H{TR9R.
2, 071 woloj2

Ol 242 DEX|P A2,

2. 0171 OROtf0}2]

OfiH 742 DIX|H HZI0/2,

2, ozt 7=ool!

OffHt 242 BHXjet 2E9IR.
2, 021 20l

OffFt 242 ZHX|H WESHR
2, 0/d nEEX|0 2!

= Quick Quiz

OPOIS2 O Z2S2 X1 JULR?
Ui O|FO0LLL, 70|, ¥&0|, 1&EX|(a snake, an iguana,
a turtle, a monkey, and a hedgehog)

Review Activity

= Comprehension CkSE 2T U2 2ol M35t

1. OIR2SESS O thEt ojop [0l

O AR5 | o BHx)7 |
2, Hi2 OX|H

v jmaige O eele
3. 7S0l= DHX|H HESHR, False
4. H3ol= B2 5250/ o0ie. True

= Sentence EYS AMok= YHU2 TS MESIMIR.
1. Something is smooth to touch. (0 22 DIX|H Th112{9UR )
2. Something is soft to touch. (0 22 BIX|H H=2i9e)

3. It’'s a hedgehog! (0172 TE=X(0|R)

= Wrap-up THOIE i 23 = AS712| HZsHML.
. hedgehog (T&EX|) - spiky (#Z3

. iguana (0|7%0IL}) - cool (A1

. turtle (420]) - rough (A%

. monkey (#30]) - soft (F=212)

a A O N =

. snake (#) - smooth (o225t
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